Avogadro

-

N= 6x10°°
18 mi(18 g)
-
1) ; /
N/1 = N/(60x60x24x365)

= 6x10°/3x10° = 2x10*'°

= 60 = 60x10 °

2x10'°/60x10° = 333



1 mm

i) ICU
ICU = 892 ,000m*=8.92x10> x(10°>)mm?
= 8.92x10' mm?
N/8.92x10" = 6.7x10" = 6.7x10° km ( )
1) C ) ===
= 3.6x 10" mm?
N/3.6x10"" = 1.7x10° mm = 1.7 km ( )

i) ( )



= 1.35x 10° km* = 1.35x10%° mm?

N/1.35x10%° = 4.4x10° mm=4.4 m ( )
= 5x 10° km® = 5x10%*° mm?
N/5x10°° = 1.2x10° mm= 1.2 m ( )

e 3rd order
= 30x30 m?~ = 300 m

= 30x30x300 m°*
= 2.7x10% mm?>

N/2.7x10"* =2.2x10%°



N= 6x10*°® =0.6x10** = (10°°

N 3 10° mm=100 km

1 100km
Avogadro



